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CIFAR 100
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: (X train, y train), (X test,
: print( X train.shape )

In [BO0]: from keras.datasets import cifarl00
y _test) = cifarl00.load data(label mode='fine")

.: print( X train.ndim )
: ilmport matplotlib.pyplot as plt

: plt.imshow( X traln[ 11 )
Dcwnlaadlng data from https://www.cs.toronto.edu/~kriz/cifar-100-python.tar.g=

Cut[80] : <matplotlib.image.hxesImage at O0x2e3ddcafefl>
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MNIST
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In [B87]: from keras.datasets import mnist
: (¥ train, y train), (¥ test, y test) = mnist.load data()
...: print( X train.shape )
...: print({ X train.ndim )
: lmport matplotlib.pyplot a=s plt
: plt.imshow( X train[0], cmap='gray"' )
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Oout[87]: <matplotlib.image.BhxesImage at Ox2e3de3Te5e=8>



Fashion MNIST
o =R EER 7000044

>DBEFE

> | N =22 N
s FEADIER

1 60000/, XA

60000 X 28 X 28

HEEHY 600008, S EMEH 28x28

In [88]

from keras.datasets import fashion mnist
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(X _train, y train), (X test, y test) = fashion mnist.lead data()

print( X_train.shape )

print( X _train.ndim )

import matplotlib.pyplot as plt
plt.imshow({ X_train[0], cmap='gray' )

Downloading data from http://fashion-mnist.s3-website.eu-central-l.amazonaws

32768/25515 [ ] - 1s 25us/step
Downloading data from http://fashion—mnist.s3-website.eu-central-l.amazonaws
26427352/26421880 [ ] - 11= OQus/=tep

Downloading data from http://fashion—mnist.s3-website.eu-central-l.amazonaws
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Downloading data from http://fashion—mnist.s3-website.eu-central-l.amazonaws
4423680/4422102 [ 1 - 7= lus/step
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Cut[88]: <matplotlib.image.fxesImage at 0x2e3£0574a%0>
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